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Question 1:  
I can subtract ones from a 3 digit  
number.  

 

I feel  

I feel  

Question 2:  
I can subtract tens from a 3 digit  
number.     

 

I feel  

  Work out the answer to these subtraction sums.  

a) 115 - 1 =     d) 220 - 1 = 
 

b) 195 - 4 =    e) 113 – 6 =     
 

c) 267 - 5 =     f) 242 - 7 = 

a) 125 - 10 =     d) 206 - 10 =  
 

b) 263 - 10 =    e) 301 -  10 =  
 

c) 159 - 20 =    f) 211 - 20 =  
 

  Work out the answer to these subtraction sums.  
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Question 3:  
I can subtract hundreds from a  
 3 digit number. 

 

I feel  

I feel  

a) 134 - 100 =       d) 345- 200 =  
 

b) 305 - 100 =       e) 525 - 110 =  
 

c) 290 - 200=      f) 356 – 220 =  
 
      

   Work out the answer to these subtraction sums:  

Question 4:  
I can subtract 2 numbers by counting 
 on 

 
I feel  

.  

 
      

 

a) 89 - 72  =      
 
 
 
b) 151 – 136 =   

 
      



a) 89 - 45  =  
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    Question 5:  
    I am beginning to use a written method 

for subtraction sums.  
 

a)  283 - 131 =   b)   232 - 112 =  

Show me how to work out:    

I feel  

    Question 6:  
    I am beginning to use the column method  

for  subtraction sums.  
 

I feel  

Show me how to work out:    

b)  456 - 215 =  
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Question 7:  
I can estimate the answer to subtraction  
calculations.      

 

I feel:  

Question 8:  
 I can use the inverse operation to  
solve a problem.  

 
 

 

I feel:  

James is presented with this sum. 
 
397 - 112 
 
 He approximates the answer. Circle which approximation is the most 
accurate:   
 
500       400      300  

Fill in the missing boxes in these sums.  
 
 

a)            +   26   =   89  
 

 
b)  256  +                     =  388  

v 
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Question 9 :  
 I can solve word problems  

 
 

 

I feel:  

Holywell Primary School has 298 pupils altogether. 12 pupils are absent 
and 61 pupils are on a school trip. How many pupils are at school?   

 pupils  


